AYSIWELL

www.siwell.com.cn

R

#7135,
- it A AE 138
- MHASERE N8
- RERRES.

- SEFFRBARRRE,

- i E AR SRR
cREHE

- TEREE AR TR

TMGP

LRSSy

M mmmm
L BR

EREFH/EHEH

]

TMGP12-Z-PS
16 TMGP16-Z-PS %
20 TMGP20-Z-PS Zﬁﬁf#
25 TMGP25-Z-PS P
32 TMGP32-Z-PS

TMGP40-Z-PS EEEH
50 TMGP50-Z-PS
63 | TMGP63-Z-PS g;grﬁ
80 TMGP80-Z-PS TR
100 TMGP100-Z-PS

HE: T(N-m)

el

-

PA44

TMGPM/TMGPL % 41|

b

54 A 4

£I42(mm)

wmSFHSEL(P12~D100)

HiEAR WA

& A =5

BREREH 1.0MPa

BEEREA 0.12MPa 0.1MPa

ER AR -10~-60°C(F L)

e ARE

EE 50~500mm/s | 50-400mmis

$hR T T R Y R R P BR R

EEAFR R Ehi R +0.07° | +0.06° | +0.05° | +0.04° | +0.03°

EstsEE | BREIR +£005° | £0.04° | +003° | +0.03° | +0.03°
R R +£0.01°

TRAE “15mm

i 1605 £ e

BEOR M5 x 0.8 | 1/8 | e | am

“mEER, WAETE1SHISO VG32,

1TR/HEME T K ik 4%

12 | 10,20,30,40,50,75,100,125, TMGP12-Z-PS
16 | 150,175,200,250 TMGP16-Z-PS
= TMGP20-Z-PS
20,30,40,50,75,100,125,150, s
25 | 175.200,250,300,350,400 040 D-MBE(VIL. | D-MEN(VHL :
3240, | 5 50,75,100,125,150,175 e
,90,75,100,125,150,175, P100-Z-
33?30 200,250,300,350,400 TGO RS
"EHENS R AN NS,
{mm)

HHEFXBRPRRITER

5 1) : 5

- : 00 | 10
D-A9LIV . 150
D-MOCIV : g

Pae 12 1031] — ! 10 .

HNEERARSETFXSEMNRDTREETRE10mmEBRA,

T4 (mm)
12 TMGPM 039|032 — |027| 024 | 0.21| 0.43 031|027 | 024 | 0,22 | 0.19 =
TMGPL 061)| 045| — | 0.35| 0.58 | 0.50 | 0.37 024 | 020| 0.18| 0.16 | 0.12 | — = —
16 TMGPM 069(058| — | 049 | 043 | 0.38 | 0.69 050 | 0.44 | 040 | 036 | 0.30 | — = =
TMGPL 099074 — | 059|099 | 0.86 | 0.65 043|037 (032|028 023| — = i
20 TMGPM — | 105| — | 093| 083 | 0.75| 1.88 144 | 1.28 | 1.16 | 1.06 | 0.890 | 0.78 | 0.69 | 0.62
TMGPL — |126| — | 1.03]| 217 | 1.94 | 1.52 134 | 117|103 | 093 | 0.76 | 0.65 | 0.56 | 0.49
o5 TMGPM — |1.786| — | 155]| 1.38| 1.25| 298 226 | 202|183 | 1.67 | 1.42| 1.24 | 1.09 | 0.98
TMGPL — 211 — | 1.75]| 3.37 | 3.02 | 2.38 205|178 | 158 | 1.41| 1.16 | 0.98 | 0.85 | 0.74
32 TMGPM — — | 835| — — | 5.13 | 5.69 442 | 398 | 361 331|284 | 248 | 220 | 1.98
TMGPL — — | 595| — — | 489 ]| 511 6.34 | 579 | 533 | 493 | 429 | 3.78 | 3.38 | 3.04
40 TMGPM — - | 7.00]| — — | 5.66 | 6.27 487 | 438 | 3.98 | 365 | 3.13 | 274 | 243 | 2.19
TMGPL = —: | 685 — — | 539 | 5.62 698 | 6.38 | 587 | 543 | 472 | 416 | 3.71| 3.35
50 TMGPM — — [ 130 — — | 108 | 12.0 9.50 | 860 | 786 | 7.24 | 6.24 | 549 | 490 | 443
TMGPL — = | 817| — — | 7.62 | 9.83 116 | 10.7 | 983 | 9.12 | 795 | 7.02 | 6.26 | 5.63
83 TMGPM = = | T&T]| = = | 121|135 10.7 | 9.69 | 886 | 8.16 | 7.04 | 6.19 | 552 | 4.99
TMGPL — — [ 102] — — | 848 11.0 130 | 11.9 | 11.0| 10.2 | 8.84 | 7.80 | 6.94 | 6.24
80 TMGPM i — |21.8]| — — | 186 | 229 186 | 17.0| 156 | 145 | 126 | 11.2| 10.0| 9.1
TMGPL o — [161]| — — | 233|227 189 | 17.3 | 160 | 148 | 129 11.3| 10.0 | 8.94
100 TMGPM — — | 388| — — | 335 37.5 309 | 284 | 262 | 244 | 214 | 191 | 172 15.7
TMGPL == - 2| == — | 30.6 | 37.9 31.8| 203|272 | 2563 22.1)| 195| 173 [ 155




A SIWELL
TMGPM /TMGPL % 4%1] www.siwell.com.cn

FE R HESHSEL(P12~9100)

©12~0 25
XX #BR~t T iR~ E
r4 WA 5 -
WB © XAnrER6 . i
— [ a | - «©
":-_E o
5
— oy N
” o o — o
: ———:[§  |(@)L
“ HH # ! 3
{M r x| & XA FAE
= Vs AW .Y oo ; \
> & \D (mm)
4 ¥
L L
T —"
L a4
XX
4xYYERYL
AXNNifi 7L 4xMMEML
XX Z_ WA 4-©OAEFL L XX&B
T ; 4-0OBiRFLROL
[ ] ]
q 2% ©L) e
i g
f P O u
s st~ £ o BT of o o5
a e - & e x| 2 A 2 S T -
x> = > > E
4 - e i
d 9_ g ; ] - ==
&Y o g : :
s 1 3 H :Q‘} 5
DXAHTRE » 2%P /|PB \lﬁ
H7 2xP X
—_— T - J K
e8] PA+{THE (%) OXAWIEE
FA G I
FB
CHiHE "=/
AT
®12,016
TMGPM, TMGPLERIR % (mm)

&LfE
(mm)

FRETEE (mm) 3| G |GA|GB| H : MM |ML| NN [OA

12 10,20,30,40,50,75,100 |42 |29 | 6 | 7 | 6 | 26|10 |7 |58 M4| 13| 13|18 M4x0.7 10 M4x0.7 43|8 |45/ M5x08 — =

16 125,150,175,200,250 (46 |33 | 8 | 7 | 6 | 30(1057.5| 64 |M4| 15| 15|22 |M5x0.8 12 [M5x0.8/4.3|8 |45 M5x0.8 — =

20 | 20,30,40,50,75,100,125,150(53 |37 |10 | 8 | 8 | 36|11.59 |83 | M5| 18| 18|24 [M5x0.8 13 |M5x0.8/ 5.4|9.5|5.5| Rc1/8 |[NPT1/8| G1/8
8|7

25 | 175200250,300,350400 [53.537.5 10 4211510 [ 93| M5] 21| 21 [ 30 [M6x1.0[ 15 [M6x 1.0[ 5.4 9.5] 5.5 Rc1/8 [NPT1/8] G1/8

AR

PA|PB|PW Q | R

(mm)

12 |18 8 18| 14 | 48 | 22 | 56 l 41 ! 50| 37| 20 | 40 110 200 | — | 15 ] 25 60 105 | — | 23| 3 |3.5|M5x08/ 10| 5
16 14510 |19 |16 |54 |25 (62 |46 | 56 | 38 | 24 | 44 110 200 | — | 17 | 27 60 106 | — (24| 3 |3.5/M5x08 10| 5
20 |13.5(10.5/ 25|18 |70 |30 | 81|54 |72 | 44| 24 | 44 120 200 | 300| 29 | 39 77 117 | 167 28| 3 |3.5|M6x1.0[ 12 | 17
25 125|135/ 30 26|78 | 38| 91|64 82| 50| 24 | 44 120 200 |300| 29 | 39 77 117 | 167 | 34| 4 |45|/M6x1.0] 12| 17
TMGPM (& 3 %)A, DB, ER (mm) TMGPL(3$%)A, DB, ER (mm)
0 1

16 46 645 | 925 | 925 |10 0 185 | 46.5 | 46.5 16 49 65 945 | 94.5 8 3 19 48.5 | 485
20 53 77.5 775 | 110 12 0 245 245 | 57 20 59 76 100 117.5 | 10 6 23 a7 64.5
25 535 | 7758 77.5 | 109.5 | 16 0 24 24 56 25 655 | 8156 | 1006 | 1176 |13] 12 28 47 64




AYSIWELL

www.siwell.com.cn

TMGPM /TMGPL %%
FE R HESHREL(P12~d100)

©32~D63
O XAH7TEEXL XXE Rt TR R E
Z WA ) %
we ]
— | i o A&—-—— ©
A ] :
7 | 4 :
S any ( 2 |4
| s|@ :
B | : c| &
® €| =
g ali- e
] i (mm)
?-fgcr%é
77 |
L .
-+ F l 50 85 |135| 7.5 | 455|135
- 63 11 [17.8] 10 |7 [185
4xYYRYL
4XNNETL AXMMEML
XXED Z WA 4- © OABFL L XXEB
/ 4-© OBIFLIROL
i ©u | -
O D S .
: 5 : 8 <
ol 8 I x| 2 2 ‘ g I
> > ﬁ?
4 =
B 1T <<
D e o :
o H | — o ¥
3 >
— S Y D N
GA | GB 24P /| PB TR
- 2xP
ST J K
$ PAsHiR () O XAWTXL
FA FB CHTR G ol
O XAHTRXL ppp E
A+HTEE
TMGPM, TMGPLER R 1% i

GA|GB| H

(mm) Fr#EITER (mm) | B | C | DA HA| J K MM ML

32 255075 |59.5(37.5 14| 10| 12]48[12 | 9 [112] M6 24 | 24 | 34 [M8x1.25| 20 |M8x1.25/6.7 | 11| 7.5] Rc1/8 | NPT1/8| G1/8
40 100,125,150 |66 |44 | 14| 10| 12| 54 [15 [12 [120|M6| 27| 27| 40 (M8 x1.25| 20/MBx1.25/6.7 | 11| 75| Rc1/8 | NPT1/8| Gi/8
50 175,200,250 |72 |44 | 18| 12| 16| 64 [15 |12 [148) M8| 32 | 32| 46 [M10x 15| 22(M10x1.5/8.6 | 14| 9 | Rci/4 | NPT1/4 | Gi/4
63 300,350,400 |77 |49 | 18| 12| 16 | 78 |15.5(13.5162|M10| 39 | 39 | 58 [M10x 1.5/ 22(M10x1.5/86 | — [ 9 Rci/4 | NPT1/4 | Gi/4

(g

PA|PB|PW| Q

(mm)

48

s i ¢

124 300 45 171

32 |65[16 [35.5 30| 96| 44 [110] 78| 98| 63 33 83 42| 4 |45| 3 | 6 |MBx1.25 16 | 21

40 |13 [18 [39.5 30 |104| 44 |118] 86|106| 72/ 24| 48 | 124 | 200 [300|34| 46 | 84 | 122 |172| 50| 4 |45| 3 | 6 [MBx1.25 16/ 22

50 |9 |[21.5(47 | 40|130| 60 | 146/ 110/ 130] 92/ 24| 48 | 124 | 200 |300|36| 48 | 86 | 124 |174| 66| 5 |6 | 4 | 8 [Mi0x1.5] 20| 24

63 |13 (28 [58 | 50 |130| 70 | 158|124/ 142|110/ 28| 52 | 128 | 200 |300/38| 50 | 88 | 124 [174[ 80| 5 |6 | 4 | 8 [M10x 1.5 20| 24
TMGPM (i sh#&)A, DB, ER <t (mm) TMGPL(E#&)A, DB, ER (mm)

i AEEd A
: & - * (mm)

32 75 935 1295 |20| 155 34 70 !

40 75 93.5 1295 |20 9 275 63.5 40 795 | 965 | 1165 | 1385 | 16| 135 | 305 | 505 | 725

50 88.5 109.5 1505 |25| 165 375 78.5 50 915 | 1125 | 1325 | 1595 | 20| 195 | 405 | 60.5 | 875

63 88.5 109.5 1505 | 25| 115 325 73.5 63 915 | 1125 | 1325 | 159.5 | 20| 145 | 355 | 555 | 825

P.146



A SIWELL
TMGPM /TMGPL &% www.siwell.com.cn

FE R HESHSEL(P12~9100)

©80~D100
© 6710
Z WA
2o XX &R T HMR~E
— | 7. i_
h lﬁ_.__ ]
AL = !
\.)"V ) -3 —t=1
ﬁ _ c |d
& o | ( 5
: 2|8
i < § 6
: *1= (mm)
s e
H b (mm) '
Opd
77 80 |13.3(20.3[12 | 8 225
T 100 15.3|23.3|{13.5| 10 |30
L—1 /7 B L
XX#B
AXYYRYL
AXNNSETL 4xDOAIBTL AXMMERML
XXE Z WA 4xPOBIMFLEOL L XXER
= —— / T
CYR iy Y
: iy v
3 -
i © &
_—
- ;
o~ o~
I 7N " 8 i
-l x| o 3 %| = o W o <z
+ H >| >
vy @ 3 :
2 E
] S
. ©06
B X
cl § ﬁL \B’ i
s 5 [\
! — of
Q GeC W N_2xP 2xP TR
DEHrER10 s GA|_ |GcB (%) Jc
PA+TH JB JA Lol LR
FA FB c+iR J K
B+ E G
A+{TiE

TMGPM, TMGPL# R R % (mm)

1T (mm) B | C |DA|FA|FB| G |GA|GB|GC| H |HA| J |[JA|JB|JC| K | L MM |ML| NN OA/OB| OL NI T TN TTF

25,50,75,100 Mi12x1.75 M12 x1.75/10.6

125,150,175,200
100 250300350400 | 116] 86 | 26 | 19 | 31 [1115[22.5/20.5(18 [240[M14/55.5 45 [10.5] 10 | 56 [ 62 | M14x2.0] 31 [ M14x20[125[ 20 | 8 |Rca8|NPT38|Ga/B

p=r

PA|[PB/PW| Q| R

14.5|25.5) 74 174] 75 198 128 300 | 54 M12x1.75
100 [17.5|32.5 89 | 64 | 210| 90 [236|188|210|166| 48 72 148 | 220 320 35 47 85 121 171 [124| M14x2.0| 28 | 11

TMGPM(i#zhih&)A, DB, ERT (mm) TMGPL(Ek347%&)A, DB, ER 5 (mm)
g g A

80 104.5 131.5 180.5 | 30| 8 84

100 126.5 151.5 190.5 | 36| 105 355 74.5

P.147



